
1. x4 + 3x2 + 4 = (x2 + x + 2)(x2 + ax + b)일 때, 상수 a, b의 곱을
구하여라.

답:



2. (x−3)(x−1)(x+2)(x+4)+24를인수분해하면 (x+a)(x+b)(x2+cx+d)
이다. a + b + c − d의 값을 구하여라.

답:



3. a2b + b2c − b3 − a2c을 인수분해하면?

① (a + b)(a − b)(b + c) ② (a − b)(b − c)(c + a)

③ (a − b)(a + b)(b − c) ④ (a − b)(a + b)(c − a)

⑤ (a − b)(b + c)(c − a)



4. 다항식 (x − 1)3 + 27을 바르게 인수분해한 것은?

① (x − 1)(x2 + 3) ② (x − 1)(x2 − x − 2)

③ (x − 1)(x2 + 3x + 3) ④ (x + 2)(x2 + x + 7)

⑤ (x + 2)(x2 − 5x + 13)



5. x4−6x2+1을인수분해하였더니 (x2+ax+b)(x2+cx+d)가되었다.
이 때, a + b + c + d의 값을 구하면?

① −2 ② 2 ③ −1 ④ 1 ⑤ 4


